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BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

December, 2023 

BZYCT–135 : PHYSIOLOGY AND BIOCHEMISTRY  

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 7.  

 

1. (a) Fill in the blanks with suitable words :  

1×5=5 

(i) ............ is formed in mitochondria from 

pyruvate oxidation and metabolism of 

carbon skeleton of some amino acids.  

(ii) In a relaxed muscle fiber, ............. 

blocks the myosin binding site on 

actin.      

(iii) A synapse close to a muscle cell is 

called ............... 



 [ 2 ] BZYCT–135 

   

(iv) Stroke volume multiplied by heart 

rate is ............  

(v) Glucose is irreversibly phosphorylated 

to Glucose-6-Phosphate by .......... 

(b) Match the following : 1×5=5 

(A) Chymotrypsin (i) Blood glucose 

level 

(B) Niacin  (ii) Neurotransmitter 

(C) Glucagon  (iii) Heart 

(D) Acetylcholine  (iv) Pancreas 

(E) Striated 

muscle  

(v) 
Pellagra  

2. Write short notes on the following : 2×5=10 

(i) Fatty acid synthesis regulation 

(ii) Hormonal regulation of ovary 

3. Write differences between the following pairs :  

2
1

2
×4=10   

(i) Ureotelic and Uricotelic  

(ii) Artery and vein 

(iii) Asexual and sexual reproduction   

(iv) Hydrolases and Lyases  
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4. (i) Draw a labelled diagram of cardiac cycle 

and explain all the events associated with 

one heartbeat.  7 

(ii) How many acetyl CoA and ATP molecules 

are formed at the end of complete oxidation 

of palmitic acid ? 3 

5 (i) Describe the role of calcium in regulating 

muscle contraction. 5 

(ii) Discuss the significance of Km and Vmax.  

5 

6. (i) Describe how renal tubule and collecting 

ducts produce dilute and concentrated 

urine.  7 

(ii) How does short-term regulation of urea 

cycle differ from long-term regulation ? 3    

7. (i) Explain the factors that affect the O2 

dissociation curve. 5 

(ii) Briefly explain the components of electron 

transport chain with the help of a suitable 

diagram. 5   
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1×5=5 

(i) ª

(ii) 
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(iii) 

(iv) ª

(v) 

1×5=5

(A) ª (i) 

(B) (ii) ª

(C) (iii) 

(D) (iv) 

(E) (v) 

2×5=10 

(i) 

(ii) 
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2
1

2
×4=10

(i) 

(ii) 

(iii) 

(iv) ª

(i) 

(ii) 

3 

(i) 

(ii) Km Vmax
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(i) 

(ii) 

(i) (O2)

(ii) ª
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